Linear Functions

A. Determine the indicated characteristics:

1. slope and y-intercept of the equation: 2. The slope and y-intercept of the
y=(2/3)x-6 equation 5x - 2y =7
-2y=-5x+7
m = 2/3, y-intercept =b =-6 -5 7 m=5/2, b=-7/2
y= —2X + —2

3. slope of the line segment joining the points (-5, 1) and (-12, 9)

Yy =W 1-9 -8 -8

m = = [

X, —x  (5)—(-12) —5+12 7

B. Determine the equation of the following linear functions given the indicated information:

1. slope is 2/3 and the y-intercept is 7 2.m=-53and b=-2
y:mx+b y=mx+b
2 5
=—x+7 =—"x-2
4 3 d 3
2 5
3*y=3*§x+3*7 3*y=3*—§x—3*2
3y=2x+21 3y=-5x-6
-2x+3y =21 5x-3y=-6
3. slope is 4/7 and contains the point (-1, 4) 4. m = -7/2 and the point is (-4, -3)
(¥ =) =m(x, —x,) (Y, =y) =m(x, —x,)
4 -7
(y—4)=7(x—(—1)) (y—(—3))=7(x—(—4))
4 -7
7*(y—4):7*7(x+1) 2*(y+3):2*7(x+4)
Ty—28=4x+4 2y+6=-7x-28
Ty =4x+32 2y =-Tx-34

—4x+7y =32 Tx+2y=-34



5. passing through the points (5, 4) and (-3, 10)

-6 -6

V2=V _ 4-10 _ _—6
X,—x;, 5-(-3) 5+3 8 4

m =

(yz _yl):m(xz _xl)
(y—4)=‘73(x—5)
4*(y—4):4*_73(x—5)

4y —-16=-3x+15
4y =-3x+31

7. passing through (-7, 1) and parallel to the
equation —5x + 4y =11

4y =5x+11

YT Ty
5

mZZZ’(_7’1)

(¥, =) =m(x, —x,)
(r=1)=3 =)
4*(y—1):4*%(x+7)

4y —4=5x+35
4y =5x+39

m =

m, =

m, =

6. Passing through the points (11,-2)
and (4, 4)
-2-4 -6

11-4 7 7

Xy =X

(¥, =y) =m(x, —x,)

(y—(—2>)=‘76<x—11)

7*(y+2)=7*_76(x—11)

7y +14=—-6x+66
Ty =—6x+52

8. passing through (-5, -3) and perpendicular

to the line segment passing through
(-9, -5) and (-13, 3).

YVo=»n_ 5-3 2 2 1
X, —x;, =-9-(-13) -9+13 4 2
1

—, Som, =-2

2 2

-2, (=5,-3)

(Y =y) =m(x, —x,)
(r=(3)=-20x-(-9)
(y+3)=-2(x+5)
y+3=-2x-10
y=-2x-13

9. equation of the perpendicular bisector of the line segment defined by the points

(-6, 11) and (12, -7)

m:yz_yl
Y270 M X+ X yl"'yzj_
m == 2 2 m, =1, (3,2)
1_1i;12 (=612 1+DY O =w)=mlx, -x)
m=—r 2 72 (y=2)=1(x-3)
18 1 v éﬁj: y—2=x-3
" 18 2°2 y=x-1
m =-1, m,=1 M@3,2)



